Student: Instructor: KAREN BROWN Assignment: 9.1 Vertex Graph of
Date: Course: Math 095: Intermediate Algebra (3) Polynomials
Time: Book: Lehmann: Elementary and

Intermediate Algebra: Functions and

Authentic Apps, le

1. Graph the function by hand. Give the coordinates of \
the vertex. Then use a graphing calculator to verify 22
your work.

f(x) = 11x2 a

Use the graphing tool to graph the parabola.

Clickto | I T T T T 1 T T T
Ea enlarge S5 4 3 2 41 1 2 3 4 5
3 graph

114

The vertex is |:|

(Type an ordered pair.) 22
2 Graph the function by hand. Give the coordinates of the vertex. Then use a graphing calculator to verify

your work.

fix) = x°
X)=—"X
4

Choose the correct graph below.

The coordinates of the vertex are |:|
(Type an ordered pair.)
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(Type an ordered pair.)
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e 5 Graph the function by hand. Give the coordinates of oY
the vertex. Then use a graphing calculator to verify 'y
your work. 6_-
fx)= —2x2+7 :‘_2“. :
Use the graphing tool to graph the parabola. SN RN I};
108 6 4 2,1 24 6 810
Click to 1
enlarge “4j |
graph -6
HH
The coordinates of the vertex are |:| L10-
(Type an ordered pair.)
—)
2 LAVICIOINE
-
4, Graph the function by hand. Give the coordinates of o
the vertex. Then use a graphing calculator to verify 5
your work. Z 6_' Z
4 |
f(x)=(x+2)2 e _
Use the graphing tool to graph the parabola. H-HHHH li,
108 6 4 2,7 2 4 6 810
Clickto .
enlarge _4j .
graph -6+
HH
The coordinates of the vertex are D q0d
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5: Graph the function by hand. Give the coordinates of . O_J\Y
the vertex. Then use a graphing calculator to verify .
your work. i
6—
f(x)=(x+1)%-5 ‘2“. : |
Use the graphing tool to graph the parabola. H-HHHHAHAHAHHAA ,)i,
Click to 108 6 42,7 24 68 10
enlarge A
graph -4
-
The vertex is |:| 511
(Type an ordered pair.) -10-
6. Graph the function by hand. Give the coordinates of oM
the vertex. Then use a graphing calculator to verify 5]
your work. R
61
L1 4
f(x)=3(x+3)%-5 1] SHEE
Use the graphing tool to graph the parabola. HHHFHHHH ,)i,
== Clickto -10816 #2124 6810
enlarge ' ' i '
graph -4
-6
The vertex is |:| 8-
(Type an ordered pair.) 104

& LAVICIOINE
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Student:

Instructor: KAREN BROWN

Assignment: 9.1 Vertex Graph of

in the answer box within your choice.

OA. The domain of f(x) is [_].
(Type an inequality or a compound
inequality.)

(OB. The domain of f(x) is all real numbers.

Select the correct choice below and, if necessary, fill
in the answer box within your choice.

OA. The range of f(x) is | |.

(Type an inequality or a compound
inequality.)

. The range of f(x) is all real numbers.
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¢} Graph the function by hand. Give the coordinates of oY
the vertex. Then use a graphing calculator to verify 'y
your work. 6_-
1 5 a1
f(x)=——(x—-5)"+4 2]
3 i | X
| O L | ! i i | IR 1 >
Use the graphing tool to graph the parabola. 1081 2,1 12747678710
Clickto | 1
= & enlft;rg: | '_Bt |
4 graph 8
“104
The coordinates of the vertex are |:|
(Type an ordered pair.) : : : :
OGNV ECN=
[Dclete I 2 )
8 Graph the function by hand.Then use a graphing i)
calculator to verify your work. Also, find the -
: ; 8
domain and range of the function. -
2 4_-
fx)=—-(x—-1)"+2 H
Use the graphing tool to graph the parabola. H+-HHHHHHA 4
f Click to | -10 -'8'-6'-4-_2_‘ 2 4 6 8 10
[ enlarge -
L graph -4
-
Select the correct choice below and, if necessary, fill -8
“10-




Student:

Instructor: KAREN BROWN

Assignment: 9.1 Vertex Graph of

OA. When f(x) =3,x=|_|.

(Use a comma to separate answers as

needed.)

oD 0 ED

(OB. The answer is undefined.

¢. Select the correct choice below and fill in any
answer boxes in your choice.

OA. When f(x) =2, x= D

(Use a comma to separate answers as

needed.)

(OB. The answer is undefined.

d. Select the correct choice below and fill in any
answer boxes in your choice.

OA. When f(x) =1,x=_].

(Use a comma to separate answers as

needed.)

(OB. The answer is undefined.
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9. Let f(x) = (x —4)2 +2. Tnd
a. Graph f by hand. 8]
b. Find x when f(x) = 3. .
¢. Find x when f(x) = 2. i
d. Find x when f(x) = 1. 'y
- X
a. Use the graphing tool to graph the parabola. i s g e S s
(1 Clickto 1078/ 6 4 2,1 2 4 10
e enlarge -
) graph J '4f
. . -6+
b. Select the correct choice below and fill in any BEEE %
answer boxes in your choice. o
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10. The function graphed below has the form Describe the constant a for the graph.
y=a(x—h) % + k. Determine whether a, h, and k are
positive, negative, or zero for the function. aO
Ay
Describe the constant h for the graph.
h [vJo
/\ ’f’_ Describe the constant k for the graph.
K [v]o
Tl AY
Find an equation of the function f graphed to the right. f
\(3-5) X
(7,—5)
fix)= D (Type your answer in vertex form.)
2, Decide whether it is possible for a parabola to have no x-intercepts. If it is possible, find an equation of

such a parabola. If it is not possible, explain why.

Choose the correct answer below.

The parabola y = (x — 5) 2~ 1 has no x-intercept.
The parabola y = (x — 5) ? has no x-intercept.

The parabola y = (x — 5) %+ 1 has no x-intercept.

It is not possible. The x-axis must intersect the parabola at least once.
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13.

14.

Decide whether it is possible for a parabola to have two x-intercepts. If it is possible, find an equation of
such a parabola. If it is not possible, explain why.

Choose the correct answer below.

OA. The parabola y = (x + 3) ? has two X-intercepts.
OB The parabola y = (x + 3) 2~ 2 has two X-intercepts.

OC. The parabola y = (x +3) > + 2 has two x-intercepts.

(OD. Itis not possible. The x-axis must intersect the parabola at most once.

Decide whether it is possible for a parabola to have three x-intercepts. If it is possible, find an equation of
such a parabola. If it is not possible, explain why.

Choose the correct answer.

(OA. Any horizontal line cannot intersect a parabola at more than 2 points. Therefore, it is impossible.
OB. Itis possible. y = (x — 2) o

OC. 1tis possible. y = (x +2) > - 5.

OD. TItis possible. y = (x +2) > +35.

A student says that to graph y = (x —8) 2, we translate the graph of y = x> up by 8 units. Is the student
correct? Explain.

Choose the correct answer below.,

(3 No

() Yes

The graph of y = (x —8) 2, with h =8, will translate the graph of y = x? to the by D units.
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1. A
224
114
S P R — T T T T
5 4 3 -2 1 1 2 3 4 5
114
-22-
(0,0)
2 C
(0,0)
3.
X
LT EY LD E] 'II'I'I‘;
-10 -8 6 -4 4 6 8 10
4]
-6
-8+
104
(0,7)
4. o
8
6
X
1T LN [ S S B e e
-10 -8 2 4 6 8 10
(=2,0)
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S. 10 :
6
4
2
X
T T T T T T T >
-10 -8 -6 - 4 6 10
(_ 1, - 5)
A
6. 101 y
2]
- X
o L L A L B
10 -8 - bl T2 416810
4]
-6+
-8
-10-
(=3,—5)
7. 10 U
8
6
4
2 /\
X
P T LT LT} I'l'l'l'l;
10 -8 -6 -4 4 6 8\10
(5,4)
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A
8. 104 y
8-
6
4]
2-
ah) :
rrrrrr1rrr9ggrrnrrrrrrrrir >
10 -8 -6 -4 2f1 2\4 10
10
B
A, y<L2
A
9. 10 ’
8-
6
4
2
. X
LT EY LT ET L Il'l'll;
10 -8 6 -4 —2_2: 24 6 8 10
4]
-6
-8+
L0
A,5.3
A, 4
B
10. <
<
>
11 5 2
—(x—=7)" -5
(=)
12. C
13. B
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14. A
15. the first choice

right
8
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